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WAREE
IERXS-TIE-TER Al FE-EHA =X vd L= BE
BEEET

BEEKT
BmEbhK FEERK m2 127
FRERKIREEEK/NAT| SUS304TL XL TILFa—T $20 | &k 6
ek & BT 4

ERIE20FCE I3
MESIAT =E (t=5cm) m2 127
BEZRIEAS20F
e (t=4cm) m2 11
L EREE M-40
LB t=15cm m2 11
BrESET B ES1E RYR—EAREILAIL t=2cm m3 0.761
HiEEEHIET

HiBEEERE

HiEEEARE HDJ-CV-RA0 (MEE-MEB)REUL| K 1.0
LETHET

BIEEET
HTEIEE RYI—EAVREILZIL m3 0.24

VUEIhIET
VDUEINEA EEFALZE m 7.00
IREHiE g 4232
S—IL#t kg 0.81
EAR & 29
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WMARELE
ITEXS-TiE-1E5 A Bk -EH B LYHE =
BEYEET
BEYRELT
BRI MR t=5cm m 11
S hR B (t=5~6cm) m2 136
T AI7IVEERE B R 1 5km LR m3 7
FRAI7ILRE 05 t 16
Iy —rlE2Y m2 48
a2 —bEER EHREEAE1.6kmEL T m3 0.2
a9 — bR t 1
fRER T
RiI5T
mY TS m2 185




BEAEET £ it x
I 7& i} Al MA - k- ST | B | 8 = & =
BEEKT
BmEBhK ZIERBK m2 126.90
BKE (¢ 18) m 575
5% A=E:E ) t=5mm m 57.2
SUS304
FRERKIRE S A/ AT JLxLTNFa—T¢20 | BIFR 6.0
HEKE &l 4.0 G
ERIFE20FTRE I &Y
HEEIET =E (t=5cm) m2 126.9 s
BHEBERE20F
=E (t=4cm) m2 11.0 + T ERmLE
LEIREE M-40
LR (t=15cm) m?2 11.0
Ry —E A
BEISET EEIS1E EILFIL t=2cm m3 0.761 EEIED30%EEE
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EHwEEI 5 ¥ E 1
T i £l =® o =
BEHKT FRR K 12690 m2
A= = 126.90 m2
BKE (¢18) mMEPNEHMEL 575 m
L(E)= 125 + 590 + 610 + 610 + 610 + 330 = 288 m
L(F)= 145 + 500 + 610 + 610 + 650 + 270 = 288 m
R B #u#4 (t=5mm) 572 m
L= 57.5 - 0.3 = 57.2 m
INSRYMER
PRARKHhEEEK/ 1T SUS304 TLFLTILFa—T ¢25 6 AT
N= = 6 EFT
BokE HKEHE W=t 4 HAT
N= g?;ggﬁ STK400 wﬁfleﬂﬁ HDAS > % = 4 %Fﬁ
Bm STK40O 139,84, 5-T0 ISt
R Y—2 s 613025 HMSH > &
TFoh— | s ¢u D58 > %
HEERT BEHE BHRE20FRE IH t=5cm 1269 m2
A= = 1269 m2
T ITESE BEBHE20F t=4cm 110 m2
A= 55 + 55 = 11.0 m2
T TE &% LEEREE M-40 t=15cm 110 m2
A= 55 + 55 = 11.0 m2
BrEEE T RhR L EEFEEE T EEED30%EEE)
RYR—EAVREILZIL t=2cm 0.761 m3
V= 1269 x 03 x 0.02 = 07614 m3
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BrEISET
Ry —tA
ErEEE ELZIL m3 0.240 JRTIYHR
VUEINMEIET
VDUEINEA BEFTAILE m 7.00
IR HRE g 423.2 BLY 9K
< — )Lt kg 0.81 BLY—JL

EAER & 29 DDA PGB —




FTHITHET H OH & 1
T & g = # =
WIEEET RYR—EAVREIILEIL 024 m3
Q) 0.0620 m3
@) = 00340 m3
©) = 00600 m3
@ = 00420 m3
® = 00160 m3
® = 00080 m3
@ = 00240 m3
= 00480 m3
©) 0.0060 m3
Bt 0.2380 m3
Co/\Y)T 476 m2
A= 0.238/0.05 = 476 m2
Bk
W= 024 x 235 = 056 t
VUEINHE BEEAIER  TREFIUHBIEELLE  1.20 700 m
MEozRE 1.40
No | E&(mm) | 1Bmm) | FEEmm) | #FEM) [OXETFEREE)
1 700 0.50 100 35.00 58.80
2 1300 0.30 100 39.00 65.52
3 900 0.30 100 27.00 45.36
4 700 0.50 100 35.00 58.80
5 1300 0.30 100 39.00 65.52
6 700 0.30 100 21.00 35.28
7 700 0.35 100 24.50 41.16
8 700 0.40 100 28.00 47.04
&Et] 7000 423.18
IREIHE 42318 g
—IL# HEE1.6g/cm3 081 kg
& Ex R teE ml &
W= 30 x 2 x 700 X 16 / 1000 X 12 = 0.81
EAR 29 &
N= 7000 / 250 = 29 @
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I & i Al MR- K - TR | B B E
BEYREL T

SR AR ) B m 11.0

S AR m2 135.9

T A7 )L 5%E m3 6.8
TARAI7ILhE0 5 t 16.0
av9)—kiEoY m2 4.76

a2 ) —RE m3 0.24

AV —bEsy t 0.56




BEYEBEI H B 2 1
T & g = # =
BEMIUELT
SHEEIRUIET  t=5cm 110 m
L= 55 + 55 = 110 m
SRR
BMmE t=5~6cm 1359 m2
A= 45 + 1269 + 45 = 1359 m2
RIER IR
As 6.8 m3
V= 1359 X 005 = 6.8 m3 160 t
W= 68 x 235 = 160 t
Co/\Y T 476 m2
A= 0.238/0.05 = 476 m2
B AL ER 024 m3
V= 024 (LEEBHEL MEEEILY) = 024 m3 056 t

W= 024 x 235

056 t
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